Stock Block-Combined Type /

BIER-AaE

HAA010
10
1 ] i
D dl - : ™
4 L -
o 1 =
L' 2|

% Including Screws Fiff#542

\EIEIE] Delivery

ME REH
SS400-Body
BRI - A58 7 Working Days
SCM435-Screw 7 BT
% $R - 1242

HAA010

L(u:0.1mm) L(u:0.1mm)

14 22.0~80.0 R/Y/N M4x20 8 10 | 10 38 22.0~80.0 R/Y/N | M10x25 | 17 9 16

14 80.1~100.0 R/Y/N M4x45 8 35 | 10 38 80.1~100.0 R/Y/N | M10x50 | 17 | 33 | 17

16 22.0~80.0 R/Y/N M4x20 8 10 | 10 38 100.1~120.0 | R/Y/N | M10x70 | 17 | 53 | 17

16 80.1~100.0 R/Y/N M4x45 8 35 | 10 38 120.1~200.0 | R/Y/N | M10x100 | 17 | 83 | 17

18 22.0~80.0 R/Y/N M5x20 95| 10 | 10 50 22.0~80.0 R/Y/N | M12x25 | 20 7 18

18 80.1~100.0 R/Y/N M5x45 95| 35| 10 HAAO10 50 80.1~100.0 R/Y/N | M12x50 | 20 | 30 | 20

20 22.0~80.0 R/Y/N M6x20 11 9 11 50 | 100.1~120.0 | R/Y/N | M12x70 | 20 | 50 | 20

20 80.1~100.0 R/Y/N M6x45 11 | 34 | 11 50 | 120.1~200.0 | R/Y/N | M12x100 | 20 | 80 | 20
HAA010 20 | 100.1~120.0 | R/Y/N M6x65 11 | 54 | 11 60 25.0~80.0 R/Y/N | M12x25 | 20 7 18

25 22.0~80.0 R/Y/N M8x20 14 8 12 60 80.1~100.0 R/Y/N | M12x50 | 20 | 30 | 20

25 80.1~100.0 R/Y/N M8x45 14 | 31 | 14 60 | 100.1~120.0 | R/Y/N | M12x70 | 20 | 50 | 20

25 100.1~120.0 | R/Y/N M8x65 14 | 51 | 14 60 | 120.1~200.0 | R/Y/N | M12x100 | 20 | 80 | 20

25 | 1201~1700 | RY/N | M&S0 | 14 | 76 | 14 X R:Red 418 / Y:Yellow Zt& / N:Normal 1Z#

32 22.0~80.0 R/Y/N M8x20 14 8 12

32 80.1~100.0 R/Y/N M8x45 14 | 31 | 14

32 100.1~120.0 | R/Y/N M8x65 14 | 51 | 14

32 120.1~170.0 | R/Y/N M8x90 14 | 76 | 14

Order Ex. z]HE&EH4]
HAA010-D-L-C

Alterations  BINLEHE Description  INTL&ZRA Order Ex.  =]f&EHl

Length or height change il AT AT

= e S Length change to 20mm
= i PR RERTEZE520mm

; HAA010-14-30-N-B(0~-0.02)
B . Té}ir;\;e};g?/g\t;;;gelght change Height tolerance change to 0~-0.02mm
}_L102‘#L—002 R AR RERITAZEER0~-0.02mm
X u=unit Visit us : www.hdw.com.tw

Contact : headway@hdw.com.tw



